normalized X?

10”

< x2/ndf >

< x2/ ndf >

chi2
Entries 17943
Mean 1.075
Std Dev 0.6606

. chiz
+[Entes 19946
Mean 1071
Std Dev 0.6448

L iz _____|
- - 1 - [Entries 19536
| Mean 1.07

Std Dev 0.6487

X2

1.8

1.6}

1.4

1.2

. [ === DQM_CKF_TTbarPU

[ normalized x? probability |

Chiz_prob
= Entries 17943

| Mean 0.4869
. Std Dev 0.3004

e o
Entries 19946
- | Mean 0.4866
Std Dev 0.2998

Tt chiz_prob
. [Entres 19536
1. | vean 04877
Std Dev. 02994

s DQM_mkFit_TTharPU-noDNN3
e DQM_mkFit_’ TTbarPU clunerhxs

2

WO

=

[y

< X2/ ndf >

Ratio

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


